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A B C D E F I P
BB | AT | mosE |axEy axE [tass sas HERRE| ZEE | #BE%
0 0.20% -3.0 0 0 220.0 0
0 0.20% -4.6 (1.6) -0.5 2171 -1.3
0 0.20% -2.1 25 -0.5 220.4 0.2
0 0.20% 24 3.8 59 -0.5 228.7 4.0
0 0.20% -45 8.0 4.2 -0.5 2321 55
6H 13.4 0 0.20% -6.3 12.4 44 -0.5 233.8 6.3
7H 17.9 0 0.20% -8.3 16.5 41 -0.5 233.1 6.0
8H 20.5 0 0.20% -94 205 40 -0.5 230.3 47
9H 17.6 0 0.20% -1.7 19.1 (1.4) -05 218.3| -0.8
10A 11.8 0 0.20% -4.8 14.1 (5.0) -05 202.6| -79
118 43 0 0.20% -1.6 6.7 (7.4) -0.5 186.2] -154
128 0 0.20% 0.5 (6.2) -0.5 174.8] -20.5
18 0 0.20% -3.0 (3.5) -05 169.0| —-23.2
&F 7.6 -450| -20.4% -6.0 -51.0
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1A LA DRBEZERE=220kPa+ ( RIRFFDRE—3.0E) X 1.1kPa
A B C D E F G H I P
BE | By | RomE |asmy a4k [ tasE ez | 1B |[ssze| anr| 25E | #HE%
0 0.20% -3.0 0 0 0 220.0 0
0 0.20% -4.6 (1.6) 1.1 -1.8 -0.5 2177 -1.0
0 0.20% =21 25 1.1 2.8 -05 220.0 0.0
0 0.20% -24 3.8 59 1.1 6.5 -05 226.0 2.7
0 0.20% 4.4 8.0 42 1.1 46 -0.5 227.7 3.5
6H 13.4 0 0.20% —6.1 12.4 4.4 1.1 48 -0.5 227.7 3.5
7H 17.9 0 0.20% -8.1 16.5 41 1.1 45 -0.5 225.6 2.6
8H 20.5 0 0.20% -9.1 205 40 1.1 44 -0.5 2214 0.7
9H 17.6 0 0.20% -74 191 (1.4) 1.1 -15 -05 2103| -44
10A 11.8 0 0.20% -4.6 14.1 (5.0) 1.1 -55 -05 196.9] -10.5
118 0 0.20% -1.6 6.7 (7.4) 1.1 -8.1 -0.5 183.6| —-16.5
12H 0 0.5 (6.2) 1.1 -6.8 -0.5 174.7| -20.6
18 0 -3.0 (3.5) 1.1 -39 -05 1704 -22.6
=3 -19.8% 0| -60| -49.6
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1A LA DABZERIE=220kPa+ ( RHRFFDSTUE-—3.0%E) X 1.1kPa
A B C D E F G H I P
BE | BEY | ROERE |BARY| 54R | LOSE| S8 | 1B |SE22| anRE| Z5E | #H%
5 0.20% -3.0 0 0 0 220.0 0
5 -4.6 (1.6) 15 -2.4 -0.5 21711 -1.3
5 0.20% -2.1 2.5 1.5 3.8 -0.5 220.4 0.2
5 0.20% -0.1 3.8 59 15 8.9 -0.5 228.7 4.0
5 0.20% -2.2 8.0 4.2 15 6.3 -0.5 2344 6.5
6H 13.4 5 0.20% -4.0 12.4 44 15 6.6 -0.5 2384 8.3
7H 17.9 5 0.20% -6.2 16.5 4.1 15 6.2 -0.5 240.0 9.1
8H 20.5 5 0.20% =74 205 40 15 6.0 -0.5 239.3 8.8
9H 17.6 5 0.20% -58 191 (1.4) 15 =21 -05 229.3 4.2
10A 11.8 5 0.20% -2.9 14.1 (5.0) 1.5 =15 -0.5 2155 -20
118 43 5 6.7 (7.4) 1.5 -11.1 -0.5 201.0f -8.6
128 5 0.5 (6.2) 1.5 -9.3 -0.5 191.2] -13.1
18 5 -3.0 (3.5) 1.5 -5.3 -0.5 185.4| —-15.7
&F 7.6 -13.0% 0 -6.0 -34.6
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R I7—RS/4¥—(BL\=2R)

XERSADIBERALI Y ILILOEE (N x hH) /43R E=-—7%
17 BDBARN-KIE1°CTO. 2% THELEE
BARNEOEE=5COIGE
I7—b547—ERERLEZER) X1E=#1 1kPaTEHEL-EE
1A LA DRBEZERE=220kPa+( RIRFFDRE—3.7E) X 1.1kPa
A B C D E F G H I P
BA | BEY [RoEE |BAGRYK B4R | LA5E| K82 | 1B |S222| akE| Z5E | #H%
5 0.20% -3.0 0 0 0 220.0 0
5 0.20% -4.6 (1.6) 11 -1.8 -0.5 217.7f -1.0
5 0.20% -2.1 25 11 28 -05 2200 0.0
5 0.20% -0.1 3.8 59 1.1 6.5 -05 226.0 2.7
5 0.20% -2.1 8.0 42 1.1 46 -0.5 230.0 45
6H 13.4 5 0.20% -3.9 12.4 44 1.1 48 -0.5 232.2 5.6
7H 17.9 5 0.20% -6.0 16.5 4.1 1.1 45 -0.5 232.3 5.6
8H 20.5 5 0.20% =71 205 40 11 44 -0.5 230.2 47
9H 17.6 5 0.20% -5.6 191 (1.4) 11 -15 -05 2211 0.5
10A 11.8 5 0.20% -2.8 14.1 (5.0) 1.1 -55 -05 2095 -48
118 5 6.7 (7.4) 1.1 -8.1 -0.5 198.0| -10.0
12H 5 0.5 (6.2) 1.1 -6.8 -0.5 190.7| -13.3
18 5 -3.0 (3.5) 1.1 -39 -0.5 186.3] —15.3
=3 -12.6% of -60[ -837
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AB | AT | RORE | BAFRH

0 0.20%
0 0.20%
0 0.20%
0 0.20% 2.1 2.2 2.3 24| 25 2.6 2.7 2.8 29 3.0 3.1
0 0.20% 3.8 40( 42 44 46 48 5.0 52 54 5.6 58
6H 13.4 0 0.20%| 54 5.6 59 6.2 6.4 6.7 7.0 7.2 1.5 7.8 8.0
;) 17.9 0 0.20% 7.2 1.5 79 8.2 8.6 9.0 9.3 9.7 10.0| 10.4| 10.7
8H 20.5 0 0.20% 8.2 8.6 9.0 9.4 9.8 103 10.7] 111 115 11.9] 123
9H 17.6 0 0.20% 7.0 14 1.7 8.1 8.4 8.8 9.2 9.5 99| 102 106
10A 11.8 0 0.20%
1A 43 0 0.20%
12H 0 0.20%
F 1.6 —-40.1 -42.1| -44.1| -46.1 —48.1] -50.2| -52.2| —-54.2| -56.2| -58.2( —60.2

15BOBARBN-K;B1°CTO. 20% Tit&E
BRARNEOEE=5COEE

AB | A¥Y |RORE

5

5

5

5 0.20%| 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1

5 0.20% 1.8 19] 20 21 22 23| 24| 25 26 2.7 28
6H 13.4 5 0.20%| 34| 35| 3.7 39| 40| 42| 44 45 47| 49 5.0
;) 17.9 5 0.20% 5.2 54| 57 59 6.2 6.5 6.7 701 7.2 1.5 1.7
8AH 20.5 5 0.20% 6.2 6.5 6.8 7.1 7.4 78] 81 84| 87 90| 93
9H 17.6 5 0.20%| 50| 5.3 5.5 5.8 6.0 6.3 6.6 6.8 7.1 7.3 7.6
10AH 11.8 5 0.20% 2.7 29 30| 341 3.3 34| 35 3.7 3.8 39| 41
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5

-25.6 -26.8| —28.1
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BN=-581°CTO. 18% Tit&E

ROEE | BRERS
0 0.18%
0 0.18%
0 0.18%
0 0.18% 1.9 20 2.1 2.2 2.2 2.3 24 25 2.6 2.7 2.8
0 0.18% 3.5 3.6 3.8 40 41 43 45 477 4.8 50 5.2
68 13.4 0 0.18% 48 5.1 5.3 55 58 6.0 6.3 6.5 6.8 7.0 1.2
7H 17.9 0 0.18% 6.4 6.8 71 7.4 1.7 8.1 8.4 8.7 9.0 9.3 9.7
8H 20.5 0 0.18% 7.4 1.7 8.1 8.5 8.9 9.2 96 10.0] 10.3] 10.71 111
9H 17.6 0 0.18%
10A 11.8 0 0.18%
118 43 0 0.18%
128 0 0.18%
=3 7.6 -36.1| -37.9| —39.7( —-41.5| —-43.3| —45.1| —-46.9| —-48.7| —50.6| —52.4| —-54.2
15ADBRBN-RB1°CTO. 22%TitE

BARNEOEE=5COIHFE

AH | AT | RORE |[BARH

5 0.22%

5 0.22%

5 0.22%

5 0.22%| 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1

5 0.22% 20 2.1 2.2 2.3 24 2.5 2.6 2.7 2.8 29 3.0
6H 13.4 5 0.22% 3.7 3.9 4.1 4.3 44 46 4.8 5.0 5.2 5.4 5.5
18 17.9 5 0.22% 5.7 6.0 6.2 6.5 6.8 71 1.4 1.7 7.9 8.2 8.5
8AH 20.5 5 0.22% 6.8 7.2 7.5 7.8 8.2 8.5 8.9 9.2 9.5 99| 10.2
9H 17.6 5 0.22% 55 58 6.1 6.4 6.7 6.9 7.2 1.5 7.8 80| 83
10AH 11.8 5 0.22% 3.0 3.1 3.3 34| 36 3.7 3.9 40( 42 4.3 4.5
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